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GENERAL AWARENESS (9 )

What is the maximum age limit prescribed for the post
of the President of India?

(A) 58 years.
(B) 60 years.
(C) 62 years.
(D) There is no maximum age limit.

The term PC means

(A) Private Computer.

(B) Personal Computer.
(C) Professional Computer.
(D) Processing Computer.

Right to Information Act was passed in the year

(A) 2001.
(B) 2005.
(C) 2004.
(D) 2002.

In an economy, the sectors are classified into public
and private on the basis of

(A) employment conditions.

(B) nature of economic activities.
(C) ownership of enterprises.

(D) use of raw materials.

The author of the book ‘My Experiments With Truth’ is

(A) Maulana Abul Kalam Azad.
(B) Govind Vallabh Pant.

(C) M. K. Gandhi.

(D) Tara Ali Beg.

Great Stupa at Sanchi is in

(A) Uttar Pradesh.

(B) Madhya Pradesh.
(C) Arunachal Pradesh.
(D) Andhra Pradesh.

The resource which can be used continuously, year
after year are called

(A) Biotic.

(B) Abiotic.

(C) Non-renewable.
(D) Renewable.

Mangal Pandey fired the first shot of the Revolt of 1857
at

(A) Barrackpore.
(B) Meerut.
(C) Kanpur.
(D) Jhansi.
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Water boils at a lower temperature on the hills because

(A) itis cold on the hills.

(B) there is less carbon dioxide on the hills.

(C) there is decrease in air pressure on the hills.
(D) there is less oxygen.

A person being a universal recipient can donate blood
to person having

(A) A-Group.
(B) B-Group.
(C) AB —Group.
(D) O-Group.

Source of energy in ecosystem is

(A) Sun.

(B) Green Plants.

(C) Sugar produced in Photosynthesis.
(D) ATP.

Who was the author of Geet Govinda?

(A) Jayadeva.
(B) Kalhana.
(C) Kalidasa.
(D) Raja Rao.

Solar energy is due to

(A) fusion reactions.

(B) fission reactions.

(C) combustion reactions.
(D) chemical reactions.

Which battle did open the Delhi area to Muhammad
Ghori?

(A) First Battle of Tarain.
(B) Second Battle of Tarain.
(C) Battle of Khanwa.

(D) First Battle of Panipat.

Hypertension is the term used for

(A) increase in heart rate.
(B) decrease in heart rate.
(C) decrease in blood pressure.
(D) increase in blood pressure.

An area legally reserved for wild life in its natural
surroundings is

(A) Biosphere Reserve.
(B) Sanctuary.

(C) Social Forest.

(D) National Park.
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The electronic configuration of an atom having atomic
number ‘20’ is

(A) 2,8, 10
(B) 2,6,8,4
(C) 2,8,8,2
(D) 2, 10,8

The major component in the LPG is

(A) Methane.
(B) Butane.
(C) Ethane.
(D) Propone.

Who among the following was the first heavyweight
boxer to go undefeated throughout his career?

(A) Rocky Marciano.
(B) Lee Epperson.
(C) Larry Holmes.
(D) Michael Spinks.

The Chairman of the Finance Commission must be

(A) A person of Finance and Banking field.

(B) An Economist of high caliber.

(C) An expert from Judiciary — level of High Court Judge.
(D) A person having experience in Public Affairs.

Who amongst the following was the Last Guru of the
Sikhs?

(A) Guru Arjun Dev.
(B) Guru Teg Bahadur.
(C) Guru Gobind Singh.
(D) Guru Angad Dev.

The writ of ‘Habeas Corpus’ is issued in the event of:

(A) Loss of Property.

(B) Refund of Excess Taxes.

(C) Wrongful Police Detention.

(D) Violation of the Freedom of Speech.

The disease that is caused by virus is:

(A) Typhoid.
(B) Cholera.
(C) Common Cold.
(D) Malaria.

In plants water is adsorbed by the root hairs by a
process called:

(A) Transpiration.
(B) Respiration.

(C) Perspiration.
(D) Osmosis.
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Which of the following gods are worshipped in the
sanctum of Badrinath and Kedarnath temples
respectively?

(A) Visnu and Shiva.
(B) Shiva and Vishnu.
(C) Shiva and Parvati.
(D) Vishnu and Brahma.

Konark which has famous ‘Sun God Temple’ with
wonderful specimens of Hindu architecture lies in the
state of:

(A) Orissa.

(B) Gujarat.

(C) Karnataka.

(D) Madhya Pradesh.

‘Giddha’ is a form of dance associated with the state
of:

(A) Punjab.

(B) Himachal Pradesh.
(C) Haryana.

(D) Rajasthan.

The Nobel Prize was instituted by the country

(A) USA.
(B) UK.
(C) Russia.
(D) Sweden.

Who is the Chairman of Planning Commission?

(A) President.

(B) Prime Minister.
(C) Finance Minister.
(D) Vice-President.

In onion the edible part is

(A) Leaf.
(B) Root.
(C) Stem.
(D) Flower.

Which country won the last FIFA World Cup in Soccer

(A) Brazil
(B) Spain
(C) Argentina
(D) England

Who is the present prime minister of Pakistan

(A) Asaf Ali Zardari

(B) Nawaz Sharif

(C) Yousaf Raza Gillani
(D) Raza Parvaiz Ashraf
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The present Governor of Reserve Bank of India is

(A) D. Subbarao
(B) Y.V.Reddy
(C) Bimal Jalan
(D) Raghuram Rajan

Who won the ICC Champions Trophy — 2013 recently
held in England

(A) England
(B) Australia
(C) India

(D) South Africa

Who amongst the following is not a Lawn Tennis
Player

(A) Rafel Nadal
(B) Roger Federer
(C) Tiger Woods
(D) Serena Williams

Which country will host the Olympic Games in 2016

(A) USA
(B) Germany
(C) Brazil
(D) Australia

Who is the present Vice Chairman of Planning
Commission

(A) Montek Singh Ahluwalia
(B) Vijay L. Kelkar

(C) P. Chidambaram

(D) Pratip Choudhary

A Bill passed by both the Houses of the Parliament
goes for approval to before legislation

(A) Prime Minister
(B) Union Cabinet
(C) President

(D) Supreme Court

Proposed state of Telangana is presently part of

(A) Karnataka

(B) Tamil Nadu

(C) Maharashtra
(D) Andhra Pradesh

Saina Nehwal is associated with

(A) Lawn Tennis
(B) Table Tennis
(C) Badminton
(D) Squash
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ES|I SCHEME (%.7d.3TE. 3sr)

If the Contribution Period under ESI Scheme is from 1%

April, 2013 to 30" September, 2013 then the
corresponding Benefit Period will be

(A) 1% April, 2013 to 30™ September, 2013.
(B) 1% July, 2013 to 31* December, 2013.
(C) 1% October, 2013 to 31% March, 2014.
(D) 1% January, 2014 to 30" June, 2014

Which of the following is not a constituted body under
ESI Scheme

(A) Standing Committee.

(B) Medical Benefit Council.
(C) Insurance - Benefit Council.
(D) Regional Board.

Presently which of the following
contribution to ESI Scheme

is not making

(A) Central Government.
(B) State Governments.
(C) Employers.
(D) Employees.

The present wage ceiling for coverage of an employee
with ‘disability’ is

(A) ¥ 10, 000/- per month.

(B) % 15, 000/- per month.

(C) % 20, 000/- per month.

(D) % 25, 000/- per month.

What is the name of new Biometric Smart Card issued
to Insured Persons

(A) Aadhar Card.

(B) Medical Card.

(C) Pehchan Card.
(D) VIP Card.

Which of the following is not a Cash Benefit under ESI
Scheme

(A) Old Age Medical Care.

(B) Sickness Benefit.

(C) Enhanced Sickness Benefit.
(D) Extended Sickness Benefit.

What is the present rate of Employers Contribution
under ESI Scheme

(A) 1.75 %.
(B) 4.50 %.
(C) 4.75 %.
(D) 6.50 %.
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An Employer who is liable to pay contribution in
respect of any employee shall pay these contribution
within how many days of the last day of the calendar
month in which the contribution falls due

(A) within 7 days.

(B) within 14 days.
(C) within 21 days.
(D) within 28 days.

Which of the following is not a part of Project
Panchdeep — IT Enabled Services in ESIC

(A) Pashan.

(B) Milap.

(C) Suvidha Samagam.
(D) Dhanwantri.

Which of the following is not a Medical Educational
Institute established by ESI Corporation

(A) ESIC Medical College.

(B) ESIC Dental College.

(C) ESIC Institute of Hospital Management.

(D) ESIC Post Graduate Institute of Medical Sciences &
Research.
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ARITHMETIC (si&Rm)

Two pipes can fill a tank separately in 10 hours and 15
hours. They can together fill the tank in

(A) 6 hours
(C) 8 hours

(B) 7 hours
(D) 9 hours

The difference between the compound and simple
interest on ¥ 1,000 for 2 years at the rate of 5% per
annum is

(A) 32
(€) %3

(B) T2.50
(D) 3,50

Next term of the sequence 8, 12, 9, 13, 10, 14, ....,is

(A) 11 (B) 15
(C) 16 (D) 17

The monthly salaries of A, B and C are in the ratio
2 : 3: 5. If C's monthly salary is ¥ 12, 000 more than
that of A, then B’s annual salary is

(A) % 1,20, 000 (B) % 1, 44, 000
(C) 1, 80, 000 (D) 2, 40, 000

By selling an article for ¥ 700 a man lost 30%. At what
price he should have sold it to gain 30%?

(A) X910 (B) T 1200
(C) 1232 (D) T 1300
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The speed of a boat in still water is 10 km/hr. It covers
upstream a distance of 45 km in 6 hours. The speed (in
km /hr) of the stream is

(A 2.5
(C) 35

(B) 3
(D) 4

The diameters of two cylinders, whose volumes are
equal, are in the ratio 3 : 2. Their height will be in the
ratio:

(A 4:9
(C) 5:8

(B) 5:6
(D) 8:9

The ratio of two numbers is 3 : 4 and their LCM is 48.
The sum of the two numbers is:

(A) 32 (B) 28
(C) 26 (D) 24

A’s salary is 25% more than B’s salary. B’s salary is
how much less than A’s salary?

(A) 20% (B) 24%
(C) 25% (D) 27.5%

The least perfect square number, which is divisible by
each of the number 16, 20 and 24 is:

(A) 1600 (B) 3600
(C) 6400 (D) 14400

In a mixture of 60 litres, the ratio of milk and water is
2: 1. How much more water must be added to make its
ratiol:27?
(A) 40 liters
(C) 54 liters

(B) 52 liters
(D) 60 liters

A can do a work in 21 days. B is 40% more efficient
than A. The number of days required for B to finish the
same work alone is
(A) 10
(©) 15

(B) 12
(D) 18

If the cost price of 25 articles is equal to the selling
price of 20 articles, then the gain percentage is

(A) 20% (B) 22.5%

(C) 25% (D) 27.5%

How many numbers are there from 1 to 100 which are
fully divisible by 5
(A) 14
(C) 19

() 20
(D) 25

Students of a class gave donation on the occasion of
Flag Day. Each student has contributed an amount
double to the number of students in the class. If total
amount of donation collected is Rs. 5, 000/-. What is
the number of students in the class.

(A) 60 (B) 50
(C) 80 (D) 70
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(C) 54 wiexX (D) 60 TEX

A Bl o @ 21 R F &€ @ B A § B 40% o1t
FIA B B H DA I P B B A B T T
(A) 10 &= (B) 12 &=

(C) 15 &= (D) 18 f&=

IR 25 TERSN W FT TA 20 TG > oA T B TR
& @ o H o &

(A) 20% (B) 22.5%

(C) 25% (D) 27.5%

1§ 100 7% # freh g ¥ St @ 5 & Tia R &
(A) 14 (B) 20

() 19 (D) 25

Foer Req W o e & Rt &) <Sa R mn s
femdt & @ # o Rl @ dem @ g S Rar
R F T T 5000 THA GIA O T A FEnpA e &
(A) 60 (B) 50
(C) 80 (D) 70



66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

Which of the following have the greatest value

(A) 213 (B) 4/5
(C) 5/6 (D) 617

The ratio of age of A and B is 3:5 and the total of their
age is 40 years. After ten years what will be the ratio
of their age
(A) 3:4
(C) 5.7

(B) 4:2
(D) 3:2

The length and width of a room is 5 Meter x 5 Meter.
How many tiles of 20 centimetre x 20 centimetre will be
used to cover the floor of the room.
(A) 625 (B) 6250
(C) 1250 (D) 1600

Ramesh purchased 25 Kg sugar for ¥ 500/- and sold
the same at the rate of ¥ 23.50 per Kg. What was the
percentage of profit to him
(A) 10

(C) 17.50

(B) 15
(D) 7.50

The ratio of length and width of a rectangle is 3:2 and
its area is 24 square centimetre. The perimeter of the
rectangle is

(A) 8 centimetre.
(C) 20 centimetre.

(B) 12 centimetre.
(D) 30 centimetre.

If 8 Boys or 16 Girls can complete ajob in 32 days then
in how many days the same job can be completed by 8
Boys and 16 Girls
(A) 15 days
(C) 16 days

(B) 20 days
(D) 18 days

A man divides his monthly savings of ¥ 1600/- among
his two sons and one daughter in the ratio of 2:2:4.
What is the amount received by the daughter

(A) %400 (B) ¥ 600

(C) 800 (D) T 1000

Which of the following numbers is not divisible by 3

(A) 2730 (B) 4323
(C) 3561 (D) 2624

In how many years an amount will get increased by
60% at the rate of simple interest of 5% per annum

(A) 8years (B) 10 years
(C) 12 years (D) 15 years

A car travels 100 meters in 9 seconds. Calculate the

speed of car in Kilometre per Hour.
(A) 54 (B) 40
(C) 38 (D) 35

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.
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(A) 213 (B) 4/5

(C) 5/6 (D) 617

I A T B H MY H STIUM 3:5 T T ITH G H A
40 99 B T <0 a¥ & UTEI S SNG B STIURT T SFT:

(A) 3:4 (B) 4:2
(C) 57 (D) 3:2

TH P B TEE T . 5 el x5 FX & A W & F
H T B AT 20 TN x 20 AR B B =

(A) 625 (B) 6250
(C) 1250 (D) 1600

WO 7 T 500 ¥ 25 foheim AWt @XEHY % 23.50 Ui

R W & | SO SHEl A A s B
(A) 10 (B) 15
(C) 17.50 (D) 7.50

% A0 & TEE qd ASE B OGIR 3: 2 B A T
FET 24 T FEHex B o H1 IRHT BT

(A) 8 Fdiex (B) 12 ¥dHiex
(C) 20 Héfiex (D) 30 e
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(A) 15 f&F (B) 20 f&
(C) 16 & (D) 18 f&

TF SEHl SR T 1600/~ H ARE S=d H G & P q°
@ G B 9 2:2:4 3 SO F Fiear 31 SE B & o
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(A) %400 (B) %600
(C) % 800 (D) % 1000
= ¥ § P-0 e 3 A fawew T8 e
(A) 2730 (B) 4323

(C) 3561 (D) 2624

e aul ¥ @ g9 5% 9 a9 @ W @ 9N 9N W®
60% T§ ST
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(C) 12 a¥
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(A) 54
(C) 38
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(D) 15 I§

(B) 40
(D) 35



GENERAL ENGLISH

DIRECTIONS (Question no. 76 to 80): In the following questions, some of the sentences are given with blanks to be filled in with
appropriate words. Four alternatives are suggested for each question. Choose the correct alternative out of the four.

76. The work was by the rains.
(A) restricted (B) prevented
(C) hampered (D) obstructed

77. One of the players forget to .

(A) turn up for practice

(B) run away from school

(C) buy shoes for the exam

(D) bring his book for the match

78. You may bring your dog where

(A) you have to pay
(B) there is no water
(C) pets are allowed
(D) pets can sleep

79. The police offered a___for information about the stolen money.

(A) reward
(B) award
(C) profit
(D) prize

80. He always takes full of the mistakes made by his friends.

(A) benefit
(B) advantage
(C) profit

(D) use

DIRECTIONS (Question no. 81 to 85): In the following questions, out of the alternatives, choose the one which best expresses the
meaning of the given word.

81. NOVICE

(A) expert

(B) specialist
(C) generalist
(D) beginner

82. PAUCITY

(A) surplus
(B) shortage
(C) excess
(D) meanness

83. DEFER

(A) Postpone
(B) Different
(C) Accept

(D) Disagree
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84. IMPEDIMENT

(A) clear

(B) ailment
(C) incapable
(D) obstruction

85. MOTIVE

(A) reason
(B) occasion
(C) intention
(D) preparation

DIRECTIONS (Question no. 86 to 90): In the following questions, choose the word opposite in meaning to the given word.

86. DIMINISH
(A) increase (B) improve
(C) introduce (D) decrease
87. DYNAMIC
(A) stable (B) still
(©) lazy (D) static.

88. PROFESSIONAL

(A) Amateur (B) Tradesman
(C) Labour (D) Customer

89. QUIET

(A) strong
(B) noisy
(C) incomplete
(D) violent

90. COMPLY

(A) challenge
(B) complain
(C) conform
(D) comete

DIRECTIONS (Question no. 91 to 95): In the following questions, out of the four alternatives, choose the one which can be
substituted for the given words/sentence.

91. A child born after the death of its father is called

(A) An orphan

(B) A deprived child
(C) A waif

(D) A posthumous child

92. Failing to discharge one’s duty

(A) Debacle

(B) Dereliction
(C) Determination
(D) Deterrent
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93. Difficult or impossible to read

(A) illogical
(B) illegible
(C) ineligible
(D) legible

94. A paper written by hand

(A) handicraft
(B) handiwork
(C) manuscript
(D) thesis

95. Related to moon

(A) solar

(B) moony
(C) lunar

(D) nightmare.

DIRECTIONS (Question no. 96 to 100): In the following questions, a part of the sentence is printed in bold. Below are given
alternatives to the bold part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In case no
improvement is needed your answer is (D).

96. My uncle presented me the more expensive watch.

(A) much
(B) mere
(C) most
(D) No improvement

97. Mayank was working overtime for the last two weeks.

(A) is working

(B) is being working
(C) has been working
(D) No improvement

98. All the candidates will give atest on Friday.

(A) appear

(B) take

(C) accept

(D) No improvement

99. He took disadvantage of the situation and cheated many people.

(A) chance

(B) advantage

(C) disapproval

(D) No improvement

100. | complimented him for his success in the examination.

(A) about

(B) on

(C) at

(D) No improvement

A-14



SPACE FOR ROUGH WORK

G P & U w@wH

A-15



59 IR W B A feres § v

O IR T e H F T U N9 GRAEH d Aot i o,
gl B N 30 § SR e BifST de orean o e

w8 A qaerh B gRI H qu JRAE Sed ol I
R Tel fEemen gRae fel B

AT A, PG §& IR .0H.AR. (OMR) €& @ 7% W e I ™ W A /&
S @iEe U9 & WY ST TR WA T AR e SRR i

T TF TG [ H q0Er & SEH 0% T & A %% (A) § (D) 7% 9R e SR 2l
B oMUR fER F St off ST W R IEH SN, I | fafed @i omw SwX weT gRaw
T |

oo ue arfart

SU-UF T @ G P B T & R Pl 7R H MO ok e a1 3§ A

I U IO HISTH | G B o ST 39 e A1 IF-aF e @M Sf¥ar IX Ui
P TE F W@ A /AE T W I U A& R o e 8 @ osEs g e
aregedf 9x Erm

TG B g § R o Erll e A e o =R R S BAS WO3H Bl SAgH T
gl

B Th U % [T &ad T 8 IR SR hl Th § A I a4 T U H His b el e
ST SAX & g A FET A ST A T e g W o fawe (B o o) 7 R
B et # Rl o R 8 W Oodide @ [T Sl SR & SHiwam JE S

FORICY, WIESE, IS, hefaied Giedl a1 36 THR & His 9 I T BFell o oremg /dest avel
A &1 ST g e & A 2

10.

e Eia & e oTUA ITR-URIH Wae® dl AME HX a1 SALOH.R. IAX UG b GO
T | FqET o AT aid & T BT 9SG Y B

A-16




